
Quiz 8 

 

1. Rewrite the following rational functions in terms of their partial fractions.  Note:  you do 

not need to solve for the unknowns A, B, C, etc.  Namely, just write the format of the 

partial fractions. 

a. 
ସ௫

ሺ௫ାଵሻሺ௫ାଶሻ
  

ൌ
࡭

࢞ ൅ ૚
൅

࡮
࢞ ൅ ૛

 

 

b. 
଻௫ିଵ

ሺ௫ାଵሻሺ௫మାଵሻ
  

 

ൌ
࡭

࢞ ൅ ૚
൅
࢞࡮ ൅ ࡯
࢞૛ ൅ ૚

 

 

c. 
௫మାସ

௫రሺ௫ିଵሻ
  

ൌ
࡭
࢞
൅
࡮
࢞૛

൅
࡯
࢞૜

൅
ࡰ
࢞૝

൅
ࡱ

࢞ െ ૚
 

 

2. Determine what is wrong with the work below: 

a. ׬
௫మାଶ௫ା଺

ሺ௫ାଵሻሺ௫మାଵሻ
ݔ݀ ൌ ׬

ଵ

௫ାଵ
൅ ଶ௫

௫మାଵ
ݔ݀ ൌ lnሺݔ ൅ 1ሻ ൅ lnሺݔଶ ൅ 1ሻ ൅  ܥ

 

Absolute value signs are missing on the first logarithm: 

න
࢞૛ ൅ ૛࢞ ൅ ૟

ሺ࢞ ൅ ૚ሻሺ࢞૛ ൅ ૚ሻ
࢞ࢊ ൌ න

૚
࢞ ൅ ૚

൅
૛࢞

࢞૛ ൅ ૚
࢞ࢊ ൌ ࢞|ܖܔ ൅ ૚| ൅ ሺ࢞૛ܖܔ ൅ ૚ሻ ൅  ࡯

 

 

b. ׬
ଵ

௫మାଶ௫ାଵ଴
ݔ݀ ൌ ׬

ଵ

ሺ௫ାଵሻమାଽ
ݔ݀ ൌ ଵ

ଷ
arctan ቀ௫ାଵ

ଷ
ቁ ൅  ܥ

 

No issues here. 


